














E._.i _-‘-Other types of line graphs

5.2.1 Step graphs

Use the graph to calculate the cost of
M the following calls:

Axawer: $1.75.

For Td8 km . : .
we read (1) Ten minutes over a distance of
this eost. L .-.' t_ %m’
e . ; : . Axswer: 2x $1.25 = $2.50.
b\ For 745 k= | E < = : .
. i we read | |10 minutes i8 2 x 5 minutes
l?f Mmeans Over thiscost. |/ %
85 and up to and i
i g 165 km | :
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5.3 The parabola

5.3.1 The graph ofy = =x |
To graph any equation which results in a curve we must plot pomtptgﬂ .%1 'a clog

-

Our points are (-3, 9), (-2, 4), (=1:1),
(0,0),(1,1),(2,4),(3,9)

The y-axis is the axis of symmetry.
The curve is symmetrical about the
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| :—mbecauuhothpomhmand




T
L ,
¥ 1 I1 ; Egy
h v P,
i

AN
ﬂﬁn%%







002,













N0,










Chapier 9 W GRAFTD oo

5.3.3 The vertex of a parabola
E Three methods can be used:
(a) Midpoint of z-intercepts

Example: Find the vertex of
¥y= (x+3)x-1)
SOLUTION
x-intercept wheny =0
ve (I + 3KI - 1} =0
x=-3,1
. midpointof -3 and 1
—3+1
2
=-1
that is, y=(-1+3)-1-1)
- (2)(-2)

s
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The parabola has mimimum vaue
(asa > 0) of 4.
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Chapter5 @ GRAPHS ¢

The curve gets closer and closer to
the axes without touching. The axes
are called the asymptotes of the

Curvas.

2
- Ifa <0, for example, y=——, we

. would graph it as follows:
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544 The exponential (for example, y = 25

Example: Complete the table fory=2° e The curve of an exponential always
* and graphy =2"ona number plane. N passes through (0, 1) and is always
E 20N pﬂSiti\*E .
x—3-2 —10123”‘,"
ylloazs|ozsfos| {21418 2 Y
R il
SOLUTION -{u%.:f\ Thesaxsisan gk
To find 273 by calculator we use: Y A 51
92 @] 3 [ 2 A T
9
2 e
1
i . 1,
0 3 3
- Y ?-,-tharﬁmpmml ofy=2%
- - T x
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